1. 6FEEFF500m

FBEFHO1=FAE—FRYy—IREE&

FR25%F1A5H(L)
V% FHEMESLAEERRAT—h 25—

I K & m B (B5h) 24 5% &
1 Fith E{Z [ 6 0:42.73 CR
2 HE EE oo 6 0:45.04
3 /hith s o) 6 0:45.14
4 L EREK A 6 0:46.11
5 T=H EE o) 6 0:47.47
6 MK FEIR EHIUFBER) 6 0:47.58
7 A EH % 6 0:48.47
8 FR Kl R 6 0:49.22
9 BT [BiF [it] 2 A (4 ER) 6 0:49.31
10 K9 Mg ERE 6 0:49.56
11 EE K&\ £iR 6 0:49.62
12 =K B4% 7k BA 6 0:49.72
13 EiR EiE 7k BA 6 0:49.73
14 fEXK ff&m E 6 0:49.84
15 KH &% IR AR O 6 0:49.91
16 ™A Bk A8 AR ) 6 0:49.92
17 WA BH M-Wave({t /& KF) 6 0:50.15
18 XKiR #t AR 6 0:50.38
19 Al &3} IBERE 6 0:51.39
20 IH BN AR 6 0:51.42
21 bk fTF =P 6 0:51.76
22 % BE= A5ER 6 0:52.83
23 K#i BE =B/ (&P ED 6 0:53.85
24 %) X—ER =B/ (&P ED 6 0:55.58
25 M 5% A0 6 0:56.35
26 Kl X =31 6 1:00.29
21 =H RrR% RE 6 1:03.03



2. 6FEXF500m

I K & B (B5h) 24 S8 1

1 /b FA M-Wave(d5 B) 6 0:48.85

2 X% BF priilea] 6 0:49.01

3 #HAKEATE 7k BR 6 0:49.14

4 EHBK =TE AE(ELTR) 6 0:49.32

5 Ik BERTE 7k BR 6 0:49.83

6 RE BE [it] & A(f8ER) 6 0:50.33

7 TERE B A8 AGE) 6 0:50.40

8 A K EJIl 6 0:50.66

9 % BE R 6 0:50.73

10 #® K2 £H 6 0:50.77

11 fE BE M-Wave(F H) 6 0:51.01

12 KX HEE £iR 6 0:51.02

13 Bft KB gHe 6 0:51.04

14 EE |2 =)l 6 0:51.47

15 /NE BT BERE 6 0:52.19

16 HME *xI = B (FEEm) 6 0:52.28

17 D EZ A BB 6 0:52.61

18 Bft FTHE gH 6 0:53.02

19 #HE K AEELR) 6 0:53.06

20 H®E =K R 6 0:53.08

21 H | AR 6 0:53.57
FR OFE A A (R ih) 6 0:53.57

23 E2ERERHCHEH g e 6 0:53.75

24 FEH BHF R 6 0:55.50

25 IMEFF B fini O 6 0:56.63

26 #EH THZE [R 6 0:56.89

27 FE AE RE 6 1:03.37

28 WA Foh g 6 1:04.96

29 R A1t priilea] 6 1:05.29

30 BiIm = E77 6 1:12.37
B V¥ M-Wave(#E7E) 6 DNS
BIfE EI=F =P 6 DNS
=5 = M-Wave(J ) 6 DNS



3. BFELEFF500m

I K & B (84)) 4 5% &
1 WA xTK e 5 0:47.27
2 INE EHR Al 5 0:49.32
3 SH BX oIl 5 0:50.08
4 FE AR 2 5 0:50.18
5 FRk HEEE 7k B3 5 0:50.25
6 #HAK X 7k ER 5 0:50.86
7 JIE X# i) 5 0:51.49
8 ®HK BZE o 5 0:51.84
9 RH #t 2 5 0:52.79
10 /MR KR £iR 5 0:52.98
11 /MR OEK Z2H 5 0:53.17
12 K+ —#t - 5 0:53.19
13 MK XK i) 5 0:53.49
14 BK KiE 5H 5 0:53.65
15 i #HIKX £H| 5 0:53.92
16 /MY F|X mE 5 0:54.12
17 HZE ZE# Z£H 5 0:54.63
18 &k BHH3 mE 5 0:55.04
19 FIE BE3 ke 5 0:55.20
20 &K L TiEAEm 5 0:56.13
21 P BE 7k BR 5 0:57.20
22 NI BR mE 5 1:00.35
23 WA ER = 5 1:03.08
24 [ =K prilea] 5 1:04.37
25 |UH EE Z£H 5 1:06.72
26 Hth #X mE 5 1:06.75
27 INE E|H 7k BR 5 1:10.51
28 BEK tE M-Wave(FFH) 5 1:18.72
INE BE i) 5 DNS



4. 5FHELZF500m

I K & B (B5h) 24 S8 1
1 WA Ah e 5 0:47.34
2 XE BHE IR AR O 5 0:48.10
3 ER IXF #H 5 0:49.25
4 FE EXB KHTIE 5 0:50.06
5 Ltk Ef ZiH 5 0:50.40
6 /INE S it 5 0:50.51
1 EE BR KHETIE 5 0:50.57
8 MF B=x 7k BH 5 0:50.73
9 PLH BE #H 5 0:51.22
10 XiZE BHE M-Wave(HH ) 5 0:51.49
11 R FYA gex 5 0:52.42
12 v B BERE 5 0:52.68
13 FE EALF =EHIGFIER) 5 0:52.72
14 FEfE HAGE A AR A) 5 0:52.74
15 EE +; AR 5 0:53.01
16 WiFE X TiEAE 5 0:53.78
17 B8 B% ERE 5 0:54.21
18 Lk W HAE 5 0:54.30
19 Bk B =P 5 0:54.50
20 HAO E R 5 0:54.73
21 FEiER BE 5 5 0:54.83
22 =R A KETIE 5 0:55.04
23 ®£F KF M 5 0:55.47
24 BiF HLY R 5 0:55.58
B =M 5 5 0:55.58
26 @A EHE BHRE 5 0:58.01
21 TE &F EiR 5 0:58.57
28 R B SH 5 0:59.43
29 HFO Ei# 2F 5 1:02.54
30 R =& TimEAmE 5 1:10.47
T fEHRE =1 5 DNS



5. 4 £ B F500m

I K & B (84)) 4 5% &
1 He 3 EJI 4 0:49.36
2 Ik FE E) 4 0:49.44
3 &I —iE M-Wave({E ) 4 0:50.74
4 FHih K- R 4 0:51.29
5 =#H RX AL 4 0:51.34
6 #HBIN #EA EHI(ER) 4 0:52.70
7 BE BX o) 4 0:52.98
8 M fnrE A2 4 0:53.60
9 M X & AU 4 0:53.89
10 #H KX RE 4 0:54.02
11 WE EE M-Wave(7 ) 4 0:55.43
12 =H Hth BERE 4 0:56.40
13 R BE3t A 4 0:56.76
14 B FX AR 4 0:57.06
15 RE ®gE it & A (#4BR) 4 0:57.23
16 X¥ W HGRER AR D O 4 0:58.03
17 Nt EAY i) 4 0:58.32
18 HZE [EAN Z£H 4 0:58.40
19 Hik BX £iR 4 0:58.59
20 WK —pk £iR 4 1:02.41
21 FHRE BA R 4 1:03.70
22 WA & 2 4 1:03.91
23 WX BEX AR 4 1:04.65
24 K¥ 5 =B/ (&P ED 4 1:07.44
25 FIHE FiE LR AR 4 1:08.41
26 & EWH [ A(#4ER) 4 1:09.26
27 %ZHE HME WL AR AR 4 1:09.35
28 EHBER KREX =F 4 1:14.13
29 BRiE B = )| 4 1:14.20
30 X¥ #X e AR D O 4 1:29.03
EM@ &3} mE 4 DNS
mA %K [R 4 DNS



6. 4F£XF500m

I K & B (B E 5% &
1 B #HE M-Wave({E ) 4 0:50.68
2 t&al HB R 4 0:51.91
3 ™ EF £H 4 0:52.59
4 Tk B A 4 0:52.94
5 P& &kkZ i) 4 0:53.42
6 Xl HBIEX i) 4 0:53.55
7 Hl1 FR EJIl 4 0:53.87
8 FBE K 7k BA 4 0:55.32
9 fER FRE R 4 0:56.28
10 fREE "I 7k BA 4 0:56.41
11 fEHF BFE £H 4 0:57.86
12 BE&FZF &m0 R 4 1:01.70
13 =Xl #E = B)(E&mTED 4 1:02.37
14 Ak HE AR 4 1:02.91
15 XKl #FE = 4 1:04.20
16 &k &HF £iR 4 1:04.32
17 HE ¥8B E 4 1:04.54
18 FEE BE M-Wave(Z5 A) 4 1:06.13
19 K &< BRE 4 1:07.42
20 ¥y FEATE =B/ (&P ED 4 1:14.08
21 WE KB A0 4 1:14.61
22 HIW B P 4 1:15.01
23 BE MhE % 4 1:18.89
24 BT thiE =1 4 1:19.51
HE FEX =) 4 DNS
= A1t ==BYN 4 DNS
INR BE 2| 4 DNS
7. 3FELEFBF500m
I K & B (84)) 4 5% &
1 ®BE EBZ oM 3 0:54.92
2 INE 2t i 3 1:03.07
3 BEH WK wAL 3 1:05.28
4 Jt/R FEW mE 3 1:06.95
5 &£ WA A 3 1:08.97
6 FH % 7k ER 3 1:09.71
7 Bim RER EY'7 3 1:14.52
8 KH BIKER IR AR @) 3 1:19.14
9 KH RAIF IR AR D @) 3 2:09.72



8. BFEXF500m

I K & m B (B5h) 24 S8 1
1 5B =45 [R 3 0:57.07
2 FBK ME SH 3 0:57.24
3  HF fETE EAH 3 0:57.52
4 [RE EFE = 3 0:57.90
5 ik BE == 3 0:58.43
6 THH B A 3 0:58.58
7 RFHF 'J‘se priilea] 3 1:01.45
8 HMm ¥ =l (FEEm) 3 1:02.82
9 £H mﬁ i) 3 1:03.64
10 &K B M-Wave(FH) 3 1:04.02
11 FEOED 7k BH 3 1:05.40
12 Bl MAT R 3 1:06.18
13 Bl E#E R 3 1:06.95
14 KH fE&E IR AR @) 3 1:08.63
15 %@ BXE TiRERAL 3 1:08.86
16 =¥ =i By 3 1:09.10
17 X% ¥ mm,ﬁﬂixfr\ L O 3 1:10.88
18 KE ZEH ke 3 1:13.18
19 Xl BEx = 3 1:15.76
20 mHIfE HEF =P 3 1:16.65
21 K¥ WE i) 3 1:17.18
22 RiF BfE 7k BR 3 1:17.65
23 & M= AL 3 1:18.26
24 & KB AL 3 1:28.10
25 XiR YA A0 3 1:29.86
2E HE = 3 DNS
9. 2 £ FBF500m
I K & B (B5h) 24 6% 1
1 PZEH =R g H 2 1:00.83
2 BN B EHI(ER) 2 1:04.22
3 Bk FHE wAL 2 1:05.14
4 HAO B2 R 2 1:06.06
5 & #EX ERELTR) 2 1:07.03
6 KHE XA e 2 1:10.35
7 KW FZE aEE’J(ﬁimaEPﬁB) 2 1:11.30
8 BE RE £iR 2 1:13.07
9 FFE = =1 2 1:13.42
10 fRE #EH RE 2 1:20.45
1M R EFE A 2 1:30.48



10. 24 &ZF500m

I K & B (B5h) 24 S8 1
1 §H 98 A 2 0:58.58
2 FpHR fEE TiREAm 2 0:58.94
3 INE HE AL 2 1:00.53
4 K/t EE e 2 1:03.33
5 2£EF XA £iR 2 1:06.06
6 i BE gHe 2 1:07.72
7 BE HYS 7k BA 2 1:08.02
8 dtIm {FE o 2 1:12.42
9 BRIE T =1 2 1:12.43
10 HE BAE R 2 1:13.87
11 #WE EIE A BB 2 1:14.26
12 X% FE IR AR @) 2 1:14.43
13 EH g BERE 2 1:15.61
14 Alfg R B 2 1:18.36
15 INE EKER B 2 1:23.43
16 Rk I 7k BA 2 1:24.16
17 IV B3R pilea] 2 1:28.22
18 /O EZXE £2mH 2 1:30.34
19 &ft £H 7k BH 2 1:57.70
& T /| 2 DNS
EE b B 2 DNS
11. 1FE4EFBF500m
I K & B (B54) 24 26 1
1 =H #IX Hit 1 1:16.98
2 BE#E X BRE 1 1:19.84
3 RE Bx= tHH 1 1:26.93
4 E BE fit] & A (8 ER) 1 1:31.23
5 ™A k3t g 1 1:31.92
6 WE BZE AR 1 1:33.26
7 BR h& == 1 1:33.34
8 =H TA4F RE 1 1:33.58
9 X¥ EE WepEAR Y O 1 1:37.63
10 90 £z 7K BH 1 1:47.79
11 EJZD RE @i 1 2:03.43
12. 1 &L F500m
I K & R (Bs) 2 26 1
1 gl %&£ M-Wave(f& ) 1 1:11.44
2 R #HE 7k BH 1 1:13.73
3 BBl =M & 1 1:23.33
4 HE EE =1 1 1:28.38
5 WE #HE A0 1 1:31.57
6 FRE H*T A HE 1 1:31.77
7 Rk =E AR 1 1:34.23
8 HE #E EJIl 1 1:43.41
9 HRE EEF R 1 2:18.42
10 Rk HE 7k BA 1 3:30.06



13. 564X B F1500m

I K & B (B5h) 24 S8 1
1 hith EiR 6 2:23.76
2 HE EE g 6 2:24.39
3 T=H EE &R 6 2:28.74
4 WA TK | 41N 5 2:30.12
5 FHk IZET 7k BB 5 2:31.22
6 fEXk m EJIl 6 2:31.23
7 U EX e 6 2:31.27
8 AR EBXE 7K BH 6 2:31.49
9 EE KE £iR 6 2:31.80
10 FH # Lo 5 2:32.08
11 KH &% IR AR D @) 6 2:32.47
12 hfE #iE =P 6 2:36.04
13 KP§ MRi& BERE 6 2:36.23
14 EiR BiE 7k BA 6 2:42.80
15 KRR # AR 6 2:45.46
16 BK KiE 5 5 2:47.78
17 #H BN AR 6 2:47.95
18 #® &B&: AR 6 2:48.64
19 ®FiZE K Z2H 5 2:59.02
At —#t i} 5 DNS
14. 2F4£BF300m
I K & m B (B54) 24 6% 1
1 PZEH =i EAH 2 0:35.79
2 B B EHI(ER) 2 0:37.99
3 Bk FHE AL 2 0:38.23
4 HAO B2 R 2 0:39.34
5 XH FZE =R/ (Emh i) 2 0:39.62
6 EBRE RE % 2 0:41.68
7 A XA B 2 0:41.82
8 MMFE HE =1 2 0:44.67
9 FIl X £RELTR) 2 0:49.46
10 fRE #EH RE 2 0:51.61
1M R EFE ke 2 0:53.47



15. 24X F300m

I K & B (B5h) 24 S8 1
1 §H 98 iilea] 2 0:36.02
2 IhNE %ﬁﬁ e 2 0:36.07
3 ¥7HA m* TiREAm 2 0:36.25
4 NN/t EE g 2 0:37.21
5 delR (R l’,’af 2 0:39.46
6 £EF XA £iR 2 0:39.86
7 BE HYS 7k BA 2 0:40.81
8 ™M BE gHe 2 0:41.21
9 BRIE T =1 2 0:41.45
10 =EH 2 BERE 2 0:41.53
11 #WE EIE A BB 2 0:44.34
12 X% FE IR AR @) 2 0:44.35
13 #ZERE RBRE [R 2 0:44.64
14 Alf #BHE B 2 0:47.00
15 INE EKER o 2 0:49.56
16 /O EZE ZH 2 0:50.87
17 IV B3R pilea] 2 0:51.21
18 Rk T 7k BR 2 0:55.06
19 &ft £H 7k BH 2 1:02.37
®]RK Sl £iR 2 DNS
EE b o 2 DNS
& T £m/| 2 DNS
16. 1EFE4EFBF300m
I K & B (B54) 24 S8 1
1T =H #IX it 1 0:45.48
2 BE#E X BRE 1 0:46.61
3 RE Bx= thE 1 0:51.24
4 E BEE fit] & A (8 ER) 1 0:52.37
5 ™A k3t g 1 0:52.57
6 ¥f0O &2 7k BA 1 0:52.89
7 X¥ #EFE W EAR Y O 1 0:53.75
8 &I REM A BB 1 0:54.26
9 =H TA4F RE 1 0:55.58
10 BH $ [it] & A (4 ER) 1 0:56.64
11 BiR Hh& =P 1 0:58.27
12 W@ BZE AR 1 1:01.02
13 il RE B 1 1:04.00



17. 14X F300m

I K & R (Bs) 2 S8 2
1 =B & M-Wave(fE ) 1 0:44.39
2 R #HE 7k BH 1 0:45.50
3 BBl =M & 1 0:45.61
4 WE BEIR TiREAm 1 0:48.95
5 B ®*% A E 1 0:53.31
6 ME HE A4 1 0:53.86
7 HE EE EJIl 1 0:54.26
8 HiE EE =1 1 0:55.33
9 Ik =E AR 1 0:56.95
10 #E EEF [R 1 1:14.01
Fik EEFE 7k BH 1 DNF
18. 6FE4EFBF1000m
I K & m B (B45h) 24 6% 2
1 Fith E{Z [ 6 1:25.17 CR
2 EHK E £R 6 1:33.73
3 WK =W EHIUFBER) 6 1:35.42
4 THA BERL 2 AR Hh) 6 1:39.34
5 BT [BiF [it] & A (8 ER) 6 1:43.42
6 EJI X—EBB =R/ (E&mE) 6 1:52.70
7 &\l w3 IBRE 6 1:52.73
8 K# = =R/ (E&mbh i) 6 1:54.97
9 XKl HX =l 6 1:56.01
10 E# 5 A48 6 2:01.49
11 WA BH M-Wave({t & K ) 6 2:02.26
12 =ZH RRA RE 6 2:14.51
E3q N R 6 DQ R256-2



19. 654 %X F1000m

I K & B (B5h) 24 S8 1
1 /U &FAR M-Wave(h B) 6 1:38.59
2 TR EE M-Wave(Z H) 6 1:38.78
3 WA FEoh g 6 1:38.90
4  FHIRK EGTE 7k BR 6 1:39.02
5 M Kig £2H 6 1:39.17
6 HF KB gHe 6 1:39.49
7 ER EJIl 6 1:39.87
8 S Ei M-Wave(JH ) 6 1:39.97
9 R&R¥ BHFE [it] 2 A (4 ER) 6 1:40.15
10 EHEK =71E AE(ELTR) 6 1:41.92
1M IMEEF #= fini @) 6 1:42.90
12 KX BE % 6 1:43.51
13 HME I = HI/(FEEm) 6 1:44.44
14 FEfE B & AGE) 6 1:44.70
15 &f BE R 6 1:45.02
16 =HH BF A 6 1:45.88
17 BHE W;E = 6 1:45.93
18 INE BTy BERE 6 1:46.04
19 XB ¥ M-Wave(#E1E) 6 1:46.57
20 ##E XK R 6 1:46.72
21 R FEHE & 6 1:46.80
22 H$ | A5ER 6 1:47.41
23 E2ERERHCHEH ZH 6 1:47.72
24 TR OFE A A (R ih) 6 1:48.96
25 fHE K AKE(ELR) 6 1:49.49
26 K¥F BEF prilea] 6 1:53.06
27 #/K EKARIE 7k BH 6 1:53.25
28 R A1t priilea] 6 2:15.56
29 {FE \IE RE 6 2:16.41
30 w\im =A E77 6 2:34.86
A& THZE R 6 DNS
BIfE EI=F =P 6 DNS



20. 5FE&EBF1000m

I K & B (84)) 4 5% &
1 SH# BX Ama 5 1:38.50
2 INE EHR Al 5 1:38.82
3 IR KRR £iR 5 1:40.54
4 HER HE - 5 1:40.93
5 #K AKX 7k BA 5 1:41.12
6 H®BAK B iy 5 1:42.07
7 MK K i) 5 1:46.98
8 JIIE K& i) 5 1:47.12
9 fiFE Eth Z2H 5 1:47.97
10 /MR EX ] 5 1:49.85
11 &K LE#H TR 5 1:52.26
12 FP WE 7k BA 5 1:52.69
13 MY |KX iRy 5 1:53.69
14 =B Bt i lea] 5 1:54.13
15 E%k BH RSy 5 1:56.54
16 /NIl & mE 5 2:04.15
17 WA B = 5 2:11.83
18 BEK # M-Wave(FFH) 5 2:15.33
19 Hef %X mE 5 2:17.35
20 B =KX ke 5 2:25.21
21 IhE E;H 7k BR 5 2:27.61
22 |UHE ¥EE Z2H 5 3:00.16
Ik EBE b 5 DNS



21. 5ELEZF1000m

I K & B (84)) 4 5% &
1 WA Ah e 5 1:38.02
2 IhNE EE HAE 5 1:38.25
3 M Bx 7k BH 5 1:38.57
4 XE BHE M-Wave(H ) 5 1:40.95
5 EiR IxF #H 5 1:41.17
6 KEF IBH AR AR @) 5 1:41.32
7 LR tiE i 5 1:42.08
8 Lix EfH ZiH 5 1:42.27
9 TiE B KHETAE 5 1:42.44
10 EiZE X8 KETIE 5 1:43.13
11 FE KRF =HRIFEIER) 5 1:43.58
12 ZER FYA 2F 5 1:47.57
13 /M B BERE 5 1:48.93
14 EFiR EA =P 5 1:49.00
15 TR A KHETIE 5 1:49.27
16 FZFH B giH 5 1:49.35
17 @t =MW SH 5 1:50.39
18 7fEfE HAGE A ARA) 5 1:51.29
19 Tk % HAE 5 1:51.55
Bt B 5H 5 1:51.55
21 &F K& =P 5 1:51.56
22 HA B [ 5 1:52.68
23 WE EE TiREAm 5 1:52.82
24 FElR BE 5H 5 1:54.75
25 BiF oL R 5 1:55.45
26 @A EHE BRE 5 1:56.90
27 TE B £iR 5 2:00.39
28 Bl B=x ERE 5 2:03.88
29 HFO Ei# 2o 5 2:08.04
30 R =& TR 5 2:14.26
T fEHE =1 5 DNS



22. AFEEBF1000m

I K & B (B5h) 24 S8 &
1 He 5 EJI 4 1:38.00
2 Ak FHE EJI 4 1:39.45
3 WK —m £iR 4 1:41.06
4 &N —1E M-Wave(f# &) 4 1:41.33
5 =#H RX AL 4 1:41.39
6 FE BA R 4 1:41.54
7 WX EX AR 4 1:42.86
8 Zith XK= R 4 1:43.02
9 M A EHI(ER) 4 1:43.32
10 2EFE EBEX £iR 4 1:44.70
11 A X RE 4 1:47.13
12 #% X & AU 4 1:48.03
13 % fiiiE & AU 4 1:48.68
14 &RE @R ] &5 A (#4 ER) 4 1:48.83
15 EH it BERE 4 1:54.33
16 X¥ W HGRER AR D O 4 1:54.74
17 #7E &3t A 4 1:55.32
18 HHE E% M-Wave(& B) 4 1:55.71
19 H32 EA Z£H 4 1:56.00
20 M XK AR 4 1:56.77
21 & E=® ] & A(#4ER) 4 1:57.62
22 EE BEX £iR 4 1:58.21
23 Iphith EAN £iR 4 2:03.11
24 WA & 2F 4 2:09.83
25 FRiE B =311 4 2:14.88
26 ZHE HMA IR AR D O 4 2:16.97
27 PFHE FiE IR AR YD O 4 2:23.82
28 K# B =R/ (EmPED 4 2:24.56
29 EHBRK REX 2F 4 2:36.56
30 X¥ #X R AR D O 4 3:01.60
EH ’_%—L o 4 DNS
mA %K I 4 DNS



23. 45 £ ZF1000m

I K & B ok 5% B =
1 f8i S8 AR 4 1:38.19 CR
2 XN OE =R/ (EmPED) 4 1:38.26 CR
3 Tl #hE M-Wave(f# &) 4 1:42.60 CR
4 W BEBF £m 4 1:44.54
5 Rk B A 4 1:47.26
6 PBIER %0LEE i) 4 1:47.53
7 Hl1 FR EJIl 4 1:48.57
8 Xl HeIL i) 4 1:50.61
9 FB K 7k BA 4 1:50.63
10 #HF BEFE Z2H 4 1:52.11
11 fREE Al 7k BA 4 1:53.51
12 fER A [R 4 1:54.84
13 Ak HE A 4 2:08.00
14 A% EAFHE =B )(EmTED 4 2:09.66
15 BRFxF & R 4 2:09.69
16 PR BE M-Wave(E A) 4 2:12.79
17 XKl #0F = 4 2:13.64
18 HE ¥8B E 4 2:14.03
19 &k &FF £iR 4 2:14.07
20 BE MhiE %R 4 2:15.00
21 K &b BRE 4 2:16.91
22 BT thiE =1 4 2:23.87
=tE BTt ==BYN 4 DNS
INR BE €[\ 4 DNS
HE FEX = 4 DNS
24. 3FELEBF1000m
I K & B k2 ik B =
1 #HE BE= oM 3 1:53.51
2 delj Rk mE 3 1:57.20
3 FH % 7k BR 3 1:57.63
4 GBH IEKX A 3 2:06.16
5 NG Eth b} 3 2:09.69
6 % WA i 3 2:20.42
7 Bim RER EY'7S 3 2:33.92
KA BIZF IR AR 3 DNS
KHE EiIXKER IR AR 3 DQ R256-2



25. 3FELEZF1000m

I K & B (B5h) 24 S8 1
1 P& BEE i) 3 1:57.35
2 FBK ME SH 3 1:57.43
3 ik BE =P 3 1:59.10
4 FHHE BAEL AR 3 2:01.93
5 ®H DE A 3 2:05.13
6 HBM B = H/(EER) 3 2:05.48
7 T EETE gHe 3 2:09.18
8 £H HE by 3 2:09.51
9 JKE %R b el 3 2:09.87
10 H7HR Z=4E [R 3 2:11.62
11 =R E&E R 3 2:12.45
12 X% 0¥ IR AR @) 3 2:13.75
13 &KH fE&E IR AR @) 3 2:15.23
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